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v - (context-free grammar)
. - N
. X N (non-terminal symbol)
- T
. x T (terminal symbol)
- (start symbol) S Q
- (production) P Nx (N X )*
« A-a (o =¢ € )

e Aod 4.0 n=A-01,...,As0n

- G=(N,T,P,S)

G
&« G=(N,T,P,9 V=N T
a * uv (1,2 u ov

(1) u=xAy,v=xa y (x,y,a V*,A N)
2 A-a G

& 1 G=(N,T,P,9

N={S}, T={a, b}, P={S— ab, S— asSh}
G

< 2. G=(N,T,P,9

N={S, A, B}, T={x, 0, 1},
P={S_XA, A-0|1B, B_¢ |0B|1B}

G
15 6 30
(derive)
RN
®
1 * V* Wo, ..., Wn
Wo GW1 G... GWn
WO Wn
* n
Wo cWn Wo GWn
* n
G ' )
15 6 30




(context-free language)

w

T w

L L=L(G)

& 1 G=N,T.P.S
N={S}! T:{), (}’ P={S—> SS! S- (8)7 S_’()}
L(G)

N={S}, T={0,1, &, +,*,), (},
P={S- @ [0]1|(S+9)|SSIS*}
LG {0, 1}

15 6 30 1

S aSh aaShb ... dvsp™ gb"

L@G)={db"|n 1}

G 2

S xA x0
S xA x1B x10B x10

L(G)={xulu=1v,v {0, 1}* u=0}
& - CFL
il + CrL
={L|L=L(G)




B . G=(V, E)

V: (vertex, node)
E: ((v1, v2) ) (edge)

o 1.1p.3 é)‘;@ g

V={1, 2, 3, 4,5}
E={(n, m)|n+m=4 n+m=7}

15 6 30 13

A B (directed graph, digraph) G

-G=(V, E)
-E (arc)
—VoW:IV W

- IR
R (predecessor) (successor) (
o ( 12p3) LB
{1234} {i-jli j})

15 6 30 15

¢ (path)
= V1,V2,...,Vk(k 1)
— (V1, V2), (V2, V3), ..., (Vk1, VK)
. (cycle) : vi=vk
. 1.1p3
-1,34
-, O g
_2,5 @
. (path)
=viovitl(l i K)
V1,V2,...,Vk( k 1)
ool ol
¢« ( 12p3

1-.2-.3-4:1 4

16




15 6 30

18

. (tree, ordered directed tree)
1
(root)
2.
3.
¢ (parent, father?) :
. (child, son?) : l
*  (leaf): \
-
- interior :
(@)
. (ancestor) ~
(descendant)

Vi
(va

V2

2
TN

19

—

15 Thequick brown fox jumped over the lazy dog’

20




(parse tree)
. G:(N,T, p’ S)
. V=N T

15 6 30
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(1)

(2)

15 6 30
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(1 AV A
1
O
(3
e ) bt Av o An V
! G A—»A]_An
A
2
A1 An
tl tn




(4)

& =N, T,P, 9
N={S}, T={a, b}, P={S_ ab, S_. aSh}

//\\
a a a b b b

| (4) @ ©

(leftmost derivation) (traverse)
. u v .
)
- G=(N,T,P,S) s
N={S}, T={), ¢, P={S-SS, S-(S), S- ()} (preorder traverse)
S (9 (9 ((59) (0S) (00
S\ /S\




T OG:(N,T, P,S)
i u v u v

U=W1AIWo. . WiAWka (A N, w;  T*)

(rightmost derivation)

G=(N,T,P,S)
N:{S}! T:{)! (}l P:{S_'SSl S—>(S), S- 0}

S (9 (9 (s9) (SON (O0N

\% V= W1ViWa. . . WVikWi+1
A vid i k)
A Vi
A Vi
15 6 30 29
*
4
o 47 (p.128)

15 6 30 31

.
.
* (717)
(PDA)




